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* Indicates that the Annual Percent Change (APC) is significantly different from zero at the alpha = 0.05 level.
—Test P-Value not p * Indicates that the Annual Percent Change (APC) s significantly different from zero at the alpha = 005 level. * Indicates that the Annual Percent Change (APC) is significantly different from zero at the alpha = 0.05 level.
Final Selected Model: 3 Joinpoints. Final Selected Model:5 Joinpoints. Final Selected Model: 5 Joinpoints.
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* Indicates that the Annual Percent Change (APC) is significantly different from zero at the alpha = 0.05 level. + Indicates that the Annual Percent Change (APC)is significantly different from zero at the alpha = 005 level. * Indicates that the Annual Percent Change (APC) is significantly different from zero at the alpha = 005 level.
Final Selected Model: 5 Joinpoints. Final Selected Model: 1 Joinpoint. Final Selected Model: 3 Joinpoints.



